| Grade Distribution Report | | | | | | | | | | T | | | | |
|------------------------------|-------------|-------|-----|-------|-----|-------|-----|-------|-----|---|------|-----|------|--|
| Arizona State University | | | | | | | | | | | | | | |
| College of Law | | | | | | | | | | | | | | |
| Spring, 2010 | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | |
| COURSE | INSTRUCTOR | TOTAL | A | | В | | С | | D | | | E | | |
| | | | No. | % | No. | % | No. | % | No. | | % | No. | % | |
| FIRST YEAR COURSES | | | | | | | | | | | | | | |
| Criminal Law | Sylvester | 59 | 16 | 27.1% | 36 | 61.0% | 5 | 8.5% | - | 2 | 3.4% | 0 | 0.0% | |
| Criminal Law | Sigler | 62 | 16 | 25.8% | 39 | 62.9% | 5 | 8.1% | | 2 | 3.2% | 0 | 0.0% | |
| Criminal Law | Murphy | 30 | 8 | 26.7% | 18 | 60.0% | 4 | 13.3% | (|) | 0.0% | 0 | 0.0% | |
| Criminal Law | Hessick, C. | 29 | 7 | 24.1% | 18 | 62.1% | 3 | 10.3% | | 1 | 3.4% | 0 | 0.0% | |
| Con. Law I | O'Grady | 32 | 9 | 28.1% | 19 | 59.4% | 4 | 12.5% | (|) | 0.0% | 0 | 0.0% | |
| Con. Law I | Clinton | 29 | 8 | 27.6% | 17 | 58.6% | 2 | 6.9% | 2 | 2 | 6.9% | 0 | 0.0% | |
| Con Law I | Bender | 61 | 19 | 31.1% | 36 | 59.0% | 6 | 9.8% | (|) | 0.0% | 0 | 0.0% | |
| Con Law I | Weinstein | 30 | 9 | 30.0% | 18 | 60.0% | 3 | 10.0% | (|) | 0.0% | 0 | 0.0% | |
| Con Law I | Schatzki | 30 | 8 | 26.7% | 21 | 70.0% | 1 | 3.3% | (|) | 0.0% | 0 | 0.0% | |
| Property | Tsosie | 61 | 18 | 29.5% | 33 | 54.1% | 9 | 14.8% | | 1 | 1.6% | 0 | 0.0% | |
| Property | Karjala | 60 | 14 | 23.3% | 36 | 60.0% | 8 | 13.3% | | 2 | 3.3% | 0 | 0.0% | |
| Property | Sawers | 61 | 15 | 24.6% | 37 | 60.7% | 9 | 14.8% | (|) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Langenfeld | 18 | 5 | 27.8% | 10 | 55.6% | 3 | 16.7% | · |) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Chesler | 35 | 10 | 28.6% | 21 | 60.0% | 4 | 11.4% | (|) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Noreuil | 18 | 5 | 27.8% | 11 | 61.1% | 2 | 11.1% | (|) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Stinson | 19 | 5 | 26.3% | 11 | 57.9% | 3 | 15.8% | (|) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Sperling | 17 | 7 | 41.2% | 8 | 47.1% | 1 | 5.9% | (|) | 0.0% | 1 | 5.9% | |
| Legal Advocacy | Dowdell | 37 | 10 | 27.0% | 23 | 62.2% | 4 | 10.8% | (|) | 0.0% | 0 | 0.0% | |
| Legal Advocacy | Herrera | 38 | 10 | 26.3% | 23 | 60.5% | 4 | 10.5% | | 1 | 2.6% | 0 | 0.0% | |
| Law & Reg. State-Admin | Hessick, F. | 47 | 12 | 25.5% | 29 | 61.7% | 6 | 12.8% | (|) | 0.0% | 0 | 0.0% | |
| Law & Reg. State-Asylum | Cruz | 14 | 4 | 28.6% | 8 | 57.1% | 2 | 14.3% | (|) | 0.0% | 0 | 0.0% | |
| Law & Reg. State-IP | Sylvester | 46 | 10 | 21.7% | 27 | 58.7% | 7 | 15.2% | | 2 | 4.3% | 0 | 0.0% | |
| Law & Reg-Business Org | Lynk | 18 | 5 | 27.8% | 12 | 66.7% | 1 | 5.6% | (|) | 0.0% | 0 | 0.0% | |
| Law & Reg-Civ Pro II | Bartels | 5 | 1 | 20.0% | 4 | 80.0% | 0 | 0.0% | (|) | 0.0% | 0 | 0.0% | |
| Law & Reg-Int'l Human Rts | Dickinson | 9 | 5 | 55.6% | 3 | 33.3% | 1 | 11.1% | · |) | 0.0% | 0 | 0.0% | |
| Law & Reg-Int'l Institutions | Gartner | 7 | 2 | 28.6% | 4 | 57.1% | 1 | 14.3% | Ū |) | 0.0% | 0 | 0.0% | |
| Law & Reg-Banking Law | Schroeder | 7 | 1 | 14.3% | 5 | 71.4% | 1 | 14.3% | Ū |) | 0.0% | 0 | 0.0% | |
| Law & Reg-Tax | Grewal | 14 | 6 | 42.9% | 6 | 42.9% | 2 | 14.3% | · · |) | 0.0% | 0 | 0.0% | |
| Legal Analysis | Rosen | 14 | 3 | 21.4% | 8 | 57.1% | 3 | 21.4% | (|) | 0.0% | 0 | 0.0% | |
| | | | | | | | | | | | | | | |
| TOTALS | | 907 | 248 | 27.3% | 541 | 59.7% | 104 | 11.5% | 13 | 3 | 1.4% | 1 | 0.1% | |
| | | | | | | | | | | | | | | |

| UPPER DIVISION GRADED C | OURSES | | 99 - | 90 | 89 - | - 80 | 79 - | 70 | 69 | - 65 | | 64 | | MEDIAN |
|-----------------------------|-----------------|-------|------|-------|------|--------|------|-------|-----|-------|---|-----|------|--------|
| | | Total | No. | % | No. | % | No. | % | No. | % | | No. | % | |
| Administrative Law | Hessick, F. | 16 | 5 | 31.3% | 4 | 25.0% | 5 | 31.3% | 2 | 12.5% | | 0 | 0.0% | 84 |
| Antitrust | Rose | 13 | 5 | 38.5% | 5 | 38.5% | 3 | 23.1% | 0 | 0.0% | | 0 | 0.0% | 87 |
| Asylum Law | Cruz | 12 | 4 | 33.3% | 7 | 58.3% | 1 | 8.3% | 0 | 0.0% | | 0 | 0.0% | 87.5 |
| AZ Con Law | Bender | 11 | 7 | 63.6% | 2 | 18.2% | 2 | 18.2% | 0 | 0.0% | | 0 | 0.0% | 90 |
| AZ Media Law | Bodney | 19 | 7 | 36.8% | 10 | 52.6% | 2 | 10.5% | 0 | 0.0% | | 0 | 0.0% | 89 |
| Business Orgs. | Lynk | 38 | 7 | 18.4% | 24 | 63.2% | 7 | 18.4% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Civil Procedure II | Bartels | 53 | 16 | 30.2% | 28 | 52.8% | 9 | 17.0% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Civil Rights Leg. | Calleros | 12 | 4 | 33.3% | 6 | 50.0% | 2 | 16.7% | 0 | 0.0% | | 0 | 0.0% | 83.5 |
| Class Action | Peck | 8 | 3 | 37.5% | 2 | 25.0% | 3 | 37.5% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Con Law II | Weinstein | 43 | 8 | 18.6% | 33 | 76.7% | 2 | 4.7% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Construction Law | Holden | 22 | 7 | 31.8% | 11 | 50.0% | 4 | 18.2% | 0 | 0.0% | | 0 | 0.0% | 85 |
| Corporate Tax | Guerin | 15 | 4 | 26.7% | 8 | 53.3% | 3 | 20.0% | 0 | 0.0% | | 0 | 0.0% | 89 |
| Criminal Procedure | Kader | 39 | 6 | 15.4% | 24 | 61.5% | 8 | 20.5% | 1 | 2.6% | | 0 | 0.0% | 82 |
| Decedent's Estates | Becker | 53 | 16 | 30.2% | 29 | 54.7% | 8 | 15.1% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Education & the Law | Herf | 12 | 6 | 50.0% | 6 | 50.0% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 89.5 |
| Election Law | Demarchi, Lang | 9 | 3 | 33.3% | 4 | 44.4% | 2 | 22.2% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Employment Law | Tiffen | 15 | 6 | 40.0% | 5 | 33.3% | 4 | 26.7% | 0 | 0.0% | | 0 | 0.0% | 87 |
| Environmental Law | Wolf | 13 | 4 | 30.8% | 6 | 46.2% | 2 | 15.4% | 1 | 7.7% | | 0 | 0.0% | 83 |
| Evidence | Dallyn | 23 | 7 | 30.4% | 8 | 34.8% | 8 | 34.8% | 0 | 0.0% | | 0 | 0.0% | 84 |
| Family Law | Ellman | 27 | 8 | 29.6% | 11 | 40.7% | 7 | 25.9% | 1 | 3.7% | | 0 | 0.0% | 84 |
| Federal Courts | Hessick, F. | 14 | 6 | 42.9% | 8 | 57.1% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 87.5 |
| Federal Income Tax | Grewal | 25 | 5 | 20.0% | 14 | 56.0% | 6 | 24.0% | 0 | 0.0% | | 0 | 0.0% | 82 |
| Human Rights | Dickinson | 16 | 6 | 37.5% | 10 | 62.5% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 85.5 |
| Indian Gaming Law | Clinton | 6 | 4 | 66.7% | 2 | 33.3% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 91 |
| Intellectual Property | Sylvester | 18 | 4 | 22.2% | 10 | 55.6% | 2 | 11.1% | 2 | 11.1% | | 0 | 0.0% | 86 |
| Int'l Business Transactions | Fellmeth | 7 | 5 | 71.4% | 2 | 28.6% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 93 |
| Int'l Contracts | Calleros | 5 | 0 | 0.0% | 5 | 100.0% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 89 |
| Int'l Institutions | Gartner | 14 | 4 | 28.6% | 10 | 71.4% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 86.5 |
| Int'l Trade | Fellmeth | 10 | 4 | 40.0% | 5 | 50.0% | 1 | 10.0% | 0 | 0.0% | | 0 | 0.0% | 85 |
| Land Use Planning | Gammage/Artigue | 18 | 3 | 16.7% | 9 | 50.0% | 6 | 33.3% | 0 | 0.0% | | 0 | 0.0% | 81 |
| Law, Litigation & Science | Saks | 9 | 2 | 22.2% | 6 | 66.7% | 1 | 11.1% | 0 | 0.0% | | 0 | 0.0% | 83 |
| Patent Litigation | Burns | 10 | 6 | 60.0% | 4 | 40.0% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 90 |
| Patent Preparation | Noblitt | 7 | 3 | 42.9% | 4 | 57.1% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 88 |
| Private Property | Birnbaum | 30 | 7 | 23.3% | 23 | 76.7% | 0 | 0.0% | 0 | 0.0% | | 0 | 0.0% | 86 |
| Professional Resp | Sallen | 31 | 6 | 19.4% | 17 | 54.8% | 6 | 19.4% | 1 | 3.2% | | 1 | 3.2% | 85.5 |
| Professional Resp | Harisson | 14 | 4 | 28.6% | 9 | 64.3% | 1 | 7.1% | 0 | 0.0% | | 0 | 0.0% | 87.5 |
| Professional Resp | Sturr | 20 | 7 | 35.0% | 9 | 45.0% | 4 | 20.0% | 0 | 0.0% | | 0 | 0.0% | 85 |
| Public Health Law | Hodge | 16 | 3 | 18.8% | 12 | 75.0% | 1 | 6.3% | 0 | 0.0% | • | 0 | 0.0% | 84 |

| Real Estate Tax Planning | Guerin | 4 | 3 | 75.0% | 1 | 25.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 94 |
|------------------------------|--------------------|-----|-----|--------|-----|--------|-----|-------|---|------|---|------|------|
| Religion & the Constitution | Kader | 19 | 6 | 31.6% | 10 | 52.6% | 3 | 15.8% | 0 | 0.0% | 0 | 0.0% | 88 |
| Secured Transactions | Schroeder | 34 | 9 | 26.5% | 18 | 52.9% | 7 | 20.6% | 0 | 0.0% | 0 | 0.0% | 84 |
| Securities Regulation | Harris | 11 | 5 | 45.5% | 4 | 36.4% | 2 | 18.2% | 0 | 0.0% | 0 | 0.0% | 85 |
| Taxation of Partnerships | Guerin | 7 | 5 | 71.4% | 1 | 14.3% | 1 | 14.3% | 0 | 0.0% | 0 | 0.0% | 96 |
| Technology Standards | Biddle | 4 | 2 | 50.0% | 2 | 50.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 89 |
| White Collar Crime | Belanger | 14 | 4 | 28.6% | 10 | 71.4% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 88 |
| | | | | | | | | | | | | | |
| SUBTOTAL | | 816 | 246 | 30.1% | 438 | 53.7% | 123 | 15.1% | 8 | 1.0% | 1 | 0.1% | |
| | | | | | | | | | | | | | |
| UPPER DIVISION GRADED SE | MINARS | | | | | | | | | | | | |
| 1983 Lititagion | Berch | 12 | 4 | 33.3% | 8 | 66.7% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 87.5 |
| Adv Estate Planning | Becker | 16 | 16 | 100.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 93 |
| Adv Legal Research | Trotta | 17 | 11 | 64.7% | 6 | 35.3% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 91 |
| Adv Legal Writing | Langenfeld | 14 | 13 | 92.9% | 1 | 7.1% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 92 |
| Applied Evidence in Trial Ad | Dallyn | 12 | 10 | 83.3% | 2 | 16.7% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 91.5 |
| Arbitration | Meyerson | 17 | 9 | 52.9% | 7 | 41.2% | 1 | 5.9% | 0 | 0.0% | 0 | 0.0% | 90 |
| Banking Law | Schroeder | 3 | 2 | 66.7% | 1 | 33.3% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 93 |
| Bioethics & Law | Roth | 9 | 8 | 88.9% | 1 | 11.1% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 94 |
| Biotechnology | Marchant | 13 | 4 | 30.8% | 8 | 61.5% | 1 | 7.7% | 0 | 0.0% | 0 | 0.0% | 88 |
| Civil Clinic | Karin/Dauber | 11 | 7 | 63.6% | 3 | 27.3% | 1 | 9.1% | 0 | 0.0% | 0 | 0.0% | 90 |
| Colloquium/Transnational | Dickinson | 4 | 2 | 50.0% | 2 | 50.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 92 |
| Corporate Governance | Velikonja | 14 | 5 | 35.7% | 9 | 64.3% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 88 |
| Cults & Alt Religions | Demaine | 11 | 3 | 27.3% | 8 | 72.7% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 88 |
| Death Penalty | Baich | 13 | 7 | 53.8% | 4 | 30.8% | 2 | 15.4% | 0 | 0.0% | 0 | 0.0% | 90 |
| English Legal History | Rose | 8 | 3 | 37.5% | 4 | 50.0% | 1 | 12.5% | 0 | 0.0% | 0 | 0.0% | 86 |
| Erroneous Convictions | Saks | 10 | 4 | 40.0% | 6 | 60.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 88.5 |
| Executive Branch Reg | Kittrie | 3 | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 87 |
| Fact Investigation | Bartels | 12 | 6 | 50.0% | 6 | 50.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 90 |
| Gender & Family Policy | Ellman | 11 | 6 | 54.5% | 5 | 45.5% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 90 |
| Governance of Virtual Worlds | Mableson, McKnight | 14 | 5 | 35.7% | 8 | 57.1% | 1 | 7.1% | 0 | 0.0% | 0 | 0.0% | 86 |
| High Tech Licensing | Curci | 14 | 10 | 71.4% | 4 | 28.6% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 91.5 |
| Immig Law Clinic | Cruz | 6 | 4 | 66.7% | 2 | 33.3% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 90.5 |
| Indian Legal Clinic | Ferguson | 5 | 2 | 40.0% | 3 | 60.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 89 |
| Int'l Environmental Law | Abbott | 7 | 4 | 57.1% | 3 | 42.9% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 90 |
| Issues in Sustainability | Askland/Fink | 12 | 5 | 41.7% | 7 | 58.3% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 88 |
| Law & Democracy | Sigler | 10 | 3 | 30.0% | 6 | 60.0% | 1 | 10.0% | 0 | 0.0% | 0 | 0.0% | 85 |
| Law & Inequality | Sands | 13 | 5 | 38.5% | 7 | 53.8% | 1 | 7.7% | 0 | 0.0% | 0 | 0.0% | 89 |
| Law & Lawyering | Ellman | 3 | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 87 |
| Law & Lit - Illiad | Lynk | 10 | 9 | 90.0% | 1 | 10.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 91.5 |

| Law & Psych of Adverti | Demaine | 8 | 5 | 62.5% | 3 | 37.5% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 90 |
|---|-------------|------|-----|--------|-----|-------|-----|-------|-----|----|----|---|------|------|
| Legislative Advocacy | Kittrie | 3 | 2 | 66.7% | 1 | 33.3% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 93 |
| Nanotechnology | Marchant | 18 | 6 | 33.3% | 12 | 66.7% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 86 |
| Phil of Crime & Punishment | Murphy | 10 | 4 | 40.0% | 6 | 60.0% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 89 |
| Post Conviction Clinic | Popko | 6 | 6 | 100.0% | 0 | 0.0% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 91 |
| Scientific Evidence | Plunkett | 11 | 7 | 63.6% | 4 | 36.4% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 90 |
| Scientific Revolution | White | 8 | 7 | 87.5% | 1 | 12.5% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 94 |
| Sentencing | Hessick, C. | 10 | 5 | 50.0% | 5 | 50.0% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 89.5 |
| Sexual Orientation | Stinson | 13 | 7 | 53.8% | 6 | 46.2% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 90 |
| Tribal Law & Gov. | Heeley | 4 | 2 | 50.0% | 2 | 50.0% | (| 0.09 | 6 (| 0. | 0% | 0 | 0.0% | 91 |
| SUBTOTAL | | 395 | 218 | 55.2% | 168 | 42.5% | ç | 2.39 | 6 (| 0. | 0% | 0 | 0.0% | |
| UPPER DIVISION TOTALS | | 1211 | 464 | 38.3% | 606 | 50.0% | 132 | 10.99 | 6 8 | 0. | 7% | 1 | 0.1% | |
| All statistics reflect only those students completed to date. | | | | | | | | | | | | | | |
| Some students still remain "Incomp | plete". | | | | | | | | | | | | | |